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Sl. No.1
QBID:1555071

Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) in

(2) with

(3) for

(4) by

Foffea & @F o dge asT el 2
1) &

(2) o

3) A

4 3

1[Option ID=45001]
2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eve view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view
Frafefad & 3 o1F-91 2es BRI 4 D161 © 2
(1) G, HBHN

() 1%, Uerd

(3) YRAL PRYMET

(4) P, SH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

T & oy T el axg & e 819 FT WG UFe Bl & S8 $IH-I1 RS ed @ 2

(1) PATPRD
(2) THPRD
(3) HMUGH hd
(4) THEHIRS




1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬂaﬁmmﬂa%:@Hﬁﬁﬁaﬂ(AssertionA)%Wﬁ%@ﬂ%ﬁmmm{ReasonR)a?Wﬁ:
iy A - T fagmo sfdefi IS § |
FHRUIR : G § WO $3 $ 15 ThaigLiyo & &0 96d ol ¢ |

QWRIET HYH & AP |, -id G0 T [dswed] § I el 3ok &1 9-1g Sifor -
(1) ARREAIIE IRR AT G AR

(2) ARREH IAE, AfFAR, AT TSl AT T8 §

(3) ATTE, AfpTR HTAR

(4) ANIE. APIRITAS

1[Option ID=45077]

2[Option ID=45078]

3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

Yail-1 & A1y YAI-11 BT A Hifor -

AT T I
@T=) (Gitilial))
A |SRUg L |l
B. |I@d L (&
c. |faeg Il |3gey
D. |7 . |a&

i feu U fasedi § U T8l SR &1 99 Bifolt -
(1) A-IV, B-III. C-I. D-II

(2) A-IIL B-III. C-IV, D-I

(3) A-L B-II C-IIL. D-IV

(4) A-IL B-IV. C-III. D-I

1[Option ID=45081]

2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076

Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?




(1) When Ajay returned my shirts ?

(2) When will Ajay returned my shirts ?
(3) When is Ajay return my shirts ?

(4) When did Ajay return my shirts 7

:ﬂaamﬁq@%:@S*Iﬁlaﬂﬁ(Assertion.%)%@ﬂﬁ‘@ﬂ%ﬁlWWW{ReasonR)aﬂ_Wﬁ:

DY A « TR AT &1 arand § fbdt gad afed &1 yRT ¥ Wiges (SR a1l

BRUIR : 59 JoTax &1 G g3 |

IR HYA & @D 1, Aid U 0 e & I gl 3R &1 9.1 Dol —
(1) AMRREH TAE AIRR AP Tt ERET B

(2) A SRR IH TA T, Al R, A PI Ul Urem 78T &

(3) AFT S, AR 3T

(4) AT AFTRITT

1[Option ID=45085]

2[Option ID=45086]

3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok. "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok. "Taj Mahal is the Seventh Wonder of the World".

Pefia § I P g e e 0
1) HPRI-YT

() SHRI - U5

(3) 3PRId-HY

(4) BPRI - HIJ

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP




FEl-1 & 1Y FEI-11 T e B -

T 1 et 11
A |Ter € U g3 guid 1 [09®
B. | IR @ ST Ud 1L |ugg
C. [Siug-d ara gl III. |oReal
D. |l T $l B & dacl FTgHI g | IV, [arfesfas
i fau T fawedi # 9 ol 9Tk &7 99+ Dol -

(1) A-IV. B-II. C-II. D-I
(2) A-IIL B-IV. C-I. D-IT
(3) A-IL B-I. C-IV. D-III
(4) A-L B-III. C-II. D-IV
1[Option ID=45093]
2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast. had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast. had a shower. and went to school.

(4) She ate her breakfast, had a shower, and was going for school.
fafeiad § ¥ Yoy arey fied S -

(1) JERS: IS |

(2) JETHT: S HAH TR |

(3) 431 B: S A T ¢ |

@) FWHT: AMAFTCE |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

fFafafed ¥ ge wsa & -

A MY
B. 3mffarg
C. I=ad
D. 9HPR
E. HaAl
i fGu U f[de el § O gl 3R &1 994 SIfol
(1) ¢.D3RE
(2) B.C 3RE
(3) C.D.E3RA
(4) A.B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi II

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna [

g0 ¥ fopge vaRT & frg-Hfex &1 fHator examr 2
(1) I YRS A I

(2) TS S

(3) O TgTe =F
(4) MTHC RAD P[]

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR Tfid &1 3w FHgifed i afew dRardgang -
(1) Suddg

(2) T9dg

(3) Hdq

(4) Fdg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

SlI. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A. Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly

(2) AandD only

(3) Aand C only

(4) Donly




Sieyd 7 999 F BIRN WR uS Faifed fa o o1 srom o & wnfie a1 99 W 1 geagyf gye ST

A Tfgarat
B. UIGl
C. TR T
D.¥x

A feT v fashedl & @ HEW IUGFd IR BN A dilelT -

(1) HIdA
(2) HIAA ARD
(3) FaTAIRC
(4) HIAD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India 1s empowered to make which of the following appointments ?

A Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A.CandD only

fFafafed 8 ¥ foa 1 Fgfdagl @ e YRd & Iyufd &1 Iredar a § 2

A SIS
B. AU Hemef

C. YRd & T30 i

D. a1g I WHE

il fou U fasedl d § T8l 3R &1 9494 BIlolU -
(1) HIAA.B 3R D

(2) Faa A ARD

(3) FadAARC

(4) PAAA. C 3R D

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 2%¢ October 2014.

Choose the correct answer from the options given below :




(1) A.BandD only
(2) Aand B only

(3) Aand D only

(4) A.B.CandD only

T HRA-RA Ted R d Ffafa s s ad € 2
A.SHHT Y 1.41 TR DS € R Y 5 a9 § fehanfaa far s |

B. SU@] A8d HATTY, " A 3R Yed] &1 Ud 7R 5a1aa” § |
C.TH.d.0H.- g B 2 BEIY e O3 gR1 aRy fear mar o |
D. TH.ELUH. 2 3{aZa% 2014 BIURH 3N AT |

= B 717 Eeat F § Wel 3094 &1 949 &Hiag ;
(1) FAAA, B IR D

(2) HadAIRB

(3) Had A dRD

(4) FAAA,B.CIARD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh 1u cv”
"keypad pen book bottle" is coded as "gn ty iu kl"
"ecomputer pen bottle paper” 1s coded as "cv kl 10 gh"

Which of the following code is used for "pen"
(1) gh
(2)
(3) ¢V
(4) 10

U faRiy e N o
"book pen mouse computer” BT HT B -"er ghiucv".
"keypad pen book bottle" DI T -~ "en ty 1 k"

"computer pen bottle paper” TP % -"evklio gh".

"pen"%ﬁﬂ{ﬁﬁ%@ﬂﬁ@fﬁﬁ@ qﬁﬁi‘}

(1) gh
(2) i
(3) ¢V
(4) 1o
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language,

'Attend class daily good' is written as 935, 24%9, 3$6, 24*3

'Begin great any matter' is written as 3 & 3. 839, 10*15, 1434

'Less error and fire' 1s written as 1087, 23%8. 9%14, 24&3

'"Tool better than screw’ is written as 16%22, 5%$21. 10%4, 14%22
According to the given code what will be the code for the word Burst' ?
(1) 8%4

(2) 6%2
(3) 8%2

'Attend class daily good' D1 955, 24%9, 356. 24+3 @I ST §
'Begin great any matter' P13 & 3. 880, 10*15. 1434 @I ST &
Less error and fire' DI 10$7. 23%8, 9%14. 24&3 fa@T ST §

'Tool better than screw’ ®I 16%22, 5321, 10%4, 14%22 feRET S@1 8 |

FR 2T 0 $l & ER TS Burst BT He T8 2
(1) 8%4

(2) 6%2

3) 832

(4) 644

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

SlI. No.18
QBID:15550718

If the symbol '+ means '—' and "*' means /" and vice versa then, what would be the value of following equation ?

A%*2/4-2+3
) 7
(2) 3
3) -8
(4) 10

gfe debd '+ &1 3 — g SR+ @1 3 v B 3R guep fawia ot o & o FHafaiad SR &1 0 1 8 2

4*2/4-2+3
(1) 7

(2) 3

(3) &

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719

If V plays first. which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.




(1) C and E are correct.
(2) Dand E

(3) A and B are correct
(4) C and D are correct

afE v el Ued Ui &l ¢ dl Fafiad # 9§ B9 faded 99 g 2
A T64 %Y R U 3T g |

B. X Y 0 TR U &ar g |

C.Z 9Idd HH WA gar e |

D.Y® Qa0 818 T WG/ gl © |

E. X & Q¥ 918 W Ufd 3T § |

i fGu U f[de el § O gl 3R &1 994 SIfol
1) cIRETEE

(2 DARE

(3) ASRBIEE

(4) cARDTEE

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana 1s moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 foprll =re & a1, SRIYT alfe gof 3R 2 fil =l | 39S 91e a8 a1 g3t iR 10 fbell =reil | 3 § SR1eAT SR feun 8 =d
Gl g | SARTYAT A 3O ar e &= 9 = 3t ot 2

(1) W
(2) afgmr
(3) 9
(4) gigg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways. a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?

(1) 200

(2) 250

(3) 350

(4) 450

7 &N ud 5 Afganel 4 ¥ ¢ Iewdiia 9ftf &1 904 oo veR 3 &1 o 9@ ¢, 59y 4 gou ud 2 afgent snfia g
(1) 200

(2) 250

(3) 350

(4) 450

1[Option ID=45053]
2[Option ID=45054]




3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4

(2) 1:2

(3) 41

4) 21

U X 3R TP TNicl & a1 Ud S S8 © | T 711d & o &1 UP DI GdTs I 91 fba-1 ohTl 2

(1) 1:4

(2) 1:2

(3) 4:1

4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years

(4) 45 years

IS RIS Thqls o01e I a2 Y 15 a8 H S 81 9ic & | fdoa aul & g 3118 A1 81 S 2
1) 1598

2 3099

(3) 4074

() 4534

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What 1s the probability of getting a sum 9 from two throws of a dice ?

o=t

1)

—
[

(2)

(3)

= D= |

(4)
fes <t U P S IR b F T 0 U B Bt WIS T fbat 8 2

1)

i
r4|"‘

(2)

(3)

(4)

O MO = | e

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25




QBID:15550725

If the equation 2x* +3x+ p =0 has equal roots. then the value of p 1s
1) 7/8

(2 1/8

(3) 89

(4) 9/8

T JHIDRU 2.2 + 32+ p =0 BT U T o, 0l p BT A b1 8T 2
1) 7/8

(2 1/8

(3) 89

(4) 9/8

1[Option ID=45069]

2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:181504831

The skull consists of

(1) 14 cramial bones and 8§ facial bones
(2) 8 cranial bones and 14 facial bones
(3) 12 cranial bones and 14 facial bones
(4) 14 cranial bones and 12 facial bones

wiget fHafaied § @ feget s et 82
(1) 14 FHYTeT AFRET 3R 8 AT i@y
() g HUTY SifRuaf 3R 14 31T sif@mEt
(3) 12 HuTeiy HRRET AR 14 AT ifRET
(4) 14 FOTa g AR 3R 12 =T siffugt
1[Option ID=45701]

2[Option ID=45702]

3[Option ID=45703]
4[Option ID=45704]

Sl. No.27
QBID:181504832

Which one of the following amino acids is called non-essential amino acid ?

(1) Methionine
(2) Leucine
(3) Tryptophan

(4) Glutamic acid

Fafafad o 3 oF a1 Ui o SRYd THH! 31 82
SR EUIIEE

() gEH

(3) feue

(4) TgCiH S

1[Option ID=45745]
2[Option ID=45746]
3[Option ID=45747]
4[Option ID=45748]

Sl. No.28
QBID:181504833

A chronic obstructive disease of the lungs, causing irreversible distension and loss of elasticity of aveoli is known as
(1) Pneumonia

(2) Bronchitis

(3) Emphysema

(4) Atelectasis

WS Sl Sl sfaRied I e Piusrsi o1 sifepduily hard gidl § SR a9 @& gl Wikl 5. Seardl o-




@) ZmitE

(2) dfqﬁﬁéféﬂ
(3) TEHTEYET
() TR R™

1[Option ID=45789]
2[Option ID=45790]
3[Option ID=45791]
4[Option ID=45792]

Sl. No.29
QBID:181504834

Which one of the following is found in high level in blood samples of patients suffering from gout?
(1) Fatty acid

(2) Urea

(3) Cholesterol

(4) Uric acid

3 Al & vaa wfoes § Fafafed & S o 3= o § urar o 82

(1) gHr 3K

2 gia

(3) DIAE

(4) gRP 3

1[Option ID=45833]
2[Option ID=45834]
3[Option ID=45835]
4[Option ID=45836]

Sl. No.30
QBID:181504835

Elevation in the level of bilirubin in blood results in
(1) Jaundice
(2) Erythracmia

(3) Leukacmia

(4) Megaloblastic anaemia

T d e TR S ag S eiare?
() diferr

2) gRefifen

(3) THIEAl

(4) Biciisarea S

1[Option ID=45877]
2[Option ID=45878]
3[Option ID=45879]
4[Option ID=45880]

Sl. No.31
QBID:181504836

Accumulation of phytanic acid due to lack of alpha oxidation leads to
(1) Zellweger's syndrome
(2) Jamaican vomiting sickness

(3) Refsum's disease
(4) Fatty liver

DT AT & 7 511 A BIEeHd 37 &1 UHEd oL Fafafea f S s swar g2
(1) SAdeR RrgH

(2) SHISHA arufdn e

(3) ¥HgH SER

(4) Bl farar




1[Option ID=45921]
2[Option ID=45922]
3[Option ID=45923]
4[Option ID=45924]

Sl. No.32
QBID:181504837

In which disease calcium is excreted in urine ?

(1) Osteoporosis

(2) Hypercalciuria

(3) Goiter

(4) Myxoedema

FAIREd & & SF I I Siekad T I A G-I o/dl 67
(1) SRR

(2) TIERGEGRAI

3) THis
(@) fafeafem

1[Option ID=45965]
2[Option ID=45966]
3[Option ID=45967]
4[Option ID=45968]

Sl. No.33
QBID:181504838

Which of the following, if increased in blood. results in high risk of heart dicase and stroke ?
(1) High density lipoprotein

(2) Low density lipoprotein

(3) Oleic acid

(4) Linoleic acid

frafafad ¥ O frae! a1 98 I g5 T SR IadTUrd &1 Gl idl 87

(1) I T femie=

) g o feramdt

(3) 3fielie i

ORREINICAES]

1[Option ID=45993]
2[Option ID=45994]
3[Option ID=45995]
4[Option ID=45996]

Sl. No.34
QBID:181504839

Which of the following procedure is an invasive procedure ?
(1) Sonography

(2) MRI

(3) Defibrillator

(4) Endoscopy

[afaiad ¥ O oH 9 kearfaft ue sreme fhanfafe g2
) FHIw!

(2) TH 3R, 315

(3) SipieeR

(4) TSRSl

1[Option ID=45997]
2[Option ID=45998]
3[Option ID=45999]
4[Option ID=46000]

Sl. No.35
QBID:1815048310

A device employed for transmitting repetitive electrical impulse to the heart is




(1) Heart-lung machine

(2) Pacemaker

(3) Angioplasty

(4) Stent

U1 171 O 550 &1 SRAR [35gd 3T I=1fid o3 & O HTH § TraT ol -
(1) ga-BH3I U

@) TgATR

(3) TRt

(4 &<

1[Option ID=45705]
2[Option ID=45706]
3[Option ID=45707]
4[Option ID=45708]

Sl. No.36
QBID:1815048311

An increased level of nonenzymatic glycosylaation of hemoglobin is an indicator of which of the folllowing?
(1) Diabetes mellitus

(2) Kidney disorder

(3) Anemia

(4) Liver disease

SIHIEIeA @ 919 Tog e e Wsa Iy &1 9= Wk FEfofad § 3 et exiar g2

(1) srffes Afeey

(2) g9 faPR

(3) SRaddl

(4) TP

1[Option ID=45709]
2[Option ID=45710]
3[Option ID=45711]
4[Option ID=45712]

Sl. No.37
QBID:1815048312

A biochemical defect in alpha keto decarboxylase leads to metabolic disorder known as
(1) Methylmalonic aciduria

(2) Maple syrup urine disease

(3) Hartnup disease

(4) Alkaptonuria

Ueh] BIel SIPRaF oY 1 siavarHe Fie Hafeiad ¥ 3 & 3 Suri=d! [dhR Sad Hdl 62
() THugaHare TsRen

(2) HUd RRT g 3m

(3) BIEAYIM

(4) USIhPIgR3T

1[Option ID=45713]
2[Option ID=45714]
3[Option ID=45715]
4[Option ID=45716]

Sl. No.38
QBID:1815048313

Which of the following regulates production of red blood cells ?
(1) G-CSF

(2) Erythropoietin

(3) Glycophoring

(4) Spectrin

frafafad ¥ @ o1 o Yo siveef & Sae of FafkEd s e?




(1) SII-3 TP,
) gReidigfe
(3) TASHIBINA
(4) WfgeA

1[Option ID=45717]
2[Option ID=45718]
3[Option ID=45719]
4[Option ID=45720]

Sl. No.39
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Haematocrit is related to
(1) Amount of hemoglobin in blood

(2) Oxygen binding ability of hemoglobin

(3) Number of erythrocytes per cubic millimeter of blood

(4) Percentage of total blood volume that consists of erythrocytes
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Which medical technology is frequently used clinically to discern abnormalities of muscle excitation such as fasciculation and fibrillation?
(1) Electrooculogram

(2) Electroencephalogram

(3) Electromyogram

(4) Sonogram
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Poliomyelitis 1s caused by

(1) A single stranded RNA virus

(2) A single stranded DNA virus

(3) A double stranded DNA virus

(4) A bacteriophage
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An angent used in the cosmetic treatment for removal of facial lines and wrinkles is isolated from:
(1) Aspergillus flavus

(2) Saccharomyeces cerevisiae

(3) Clostridium botulinum

(4) Bacillus subtilis
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Most commonly peptic ulcers are caused by
(1) Giardia lamblia

(2) Shigella sonnei

(3) Enterobius vermicularis

(4) Helicobacter pylovi
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The method used to localize a specific protein in a cell is
(1) Immunofluerescence microscopy

(2) ELISA

(3) Solid phase immunoassay

(4) Western blotting
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Which of the following may be used as reporter gene?
(1) Luciferase gene

(2) CFTR gene

(3) Ampicillin-resistant gene

(4) beta actin gene
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The enzyme that is involved in movement of genetic element around the genome is
(1) DNA gyrase

(2) Flippase

(3) DNA helicase

(4) Transposase
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A pair of restriction endouncleases from two different organisms that recognize the same DNA sequence are called
(1) Isozymes

(2) Concatamers

(3) Isoschizomers

(4) Palindromes
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Caspases are involved in

(1) Recombination




(2) DNA replication

(3) Antibody synthesis

(4) Apoptosis
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Which one of the following is employed in the treatment of myocardial infraction?
(1) Tissue plasminogen activator

(2) Humulin

(3) Leptin

(4) Penicillinase
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Spindle fibers formed during the cell division are composed of

(1) Myosin

(2) Actin

(3) Alpha and beta tubulin

(4) Fibrom
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Antiviral substance produced naturally by humans in case of viral infection is

(1) Virion

(2) Interferon

(3) Antigen

(4) Antivirin
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Protein A linked affinity chromatography is employed for the downstream processing of
(1) Penicillin

(2) Protease

(3) Monoclonal antibody

(4) Insulin
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Serum. used to supplement cell culture media, is sterilized by

(1) Autoclave

(2) Membrane filtration
(3) UV radiation

(4) Dry heating
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Muturation of T-lymphocytes occur in

(1) Bone marrow

(2) Spleen

(3) Liver

(4) Thymus
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Identification of blood group involves

(1) Precipitation

(2) Opsonization

(3) Neutralization

(4) Agglutination
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The inactivation of mRNA due to its binding to a complementary RNA molecule is referred as
(1) RNA translation

(2) RNA looping

(3) RNA splicing

(4) RNA interference
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Vaccines are prepared from
(1) Plasma

(2) Lymph

(3) Blood

(4) Serum

frafafed & 9 foad aef= s o &2
(1) TETSTH]

(@) TRIPpT

(3) ¥ad

4 IdRH

1[Option ID=45801]

2[Option ID=45802]

3[Option ID=45803]
4[Option ID=45804]

Sl. No.58
QBID:1815048333

Which of the following 1s an autoimmune disorder ?
(1) Osteo arthritis
(2) Multiple sclerosis

(3) Whooping cough




(4) Diphtheria
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Water reabsorption in kidneys is controlled by
(1) Oxytocin

(2) Insulin

(3) ADH

(4) TRH
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Given below are two statements :

Statement - I : A long bone such as the femur consists of a diaphysis and epiphysis.

Statement - IT : The wrist bones (carpels) and ankle bones (tarsals) are the flat bones.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : During breathing, the vocal cords are drawn together. and the glottis becomes a narrow slit.
Statements - I : During swallowing. the vocal cords are drawn apart and glottis takes a triangular shape.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - I are correct.




(2) Both Statement - I and Statement - IT are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Intrinsic factor is a glycoprotein secreted by parietal cells.

Statements - IT : Intrinsic factor-vitamin B12 complex is absorbed in ileum of small intestine.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : The normal rhythmic self-excitatory impulse 1s generated in the SA node.

Statements - IT : The impulse from the atria 1s delayed before passing into the ventricles in AV node.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT 1s incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : The descending limb of the loop of Henle 1s highly permeable to water but relatively impermeable to NaCl
Statements - I : The ascending limb of the loop of Henle is permeable to water and NaCl both.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Positron cmission tomography (PET) employs 11C-glucose.

Statements - II : PET monitors the difference between metabolically active and relatively inactive tissues.
In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - I are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

I RIEACURI IS

HYA - 1 : HifeieH UERE Tt @ .20 & e e & yai fear S g |

FYA - 11 : 413,21, U=t Sfeha SiR qa-ietadl § Sffhy Sud! &1 fEdT 1 4au Hdl g
IR HYA & @D 1, Fid fSu 70 fdwed & I U6l IR &1 904 Sifoie:

(1) HUTI R TI g

(2) HUTI IR SIS

(3) PYFT 1A 5, Ald DUF I 3T &
(4) FYFT1 A G, AP PUA 1 T ©

1[Option ID=45837]
2[Option ID=45838]
3[Option ID=45839]
4[Option ID=45840]

Sl. No.66
QBID:1815048341

Given below are two statements

Statement - I : Aspirin iireversibly acetylates and thus inhibits the platelet cyclooxygenase system involved in formation of thromboxane
A2 a potent aggregator and a vasoconstrictor.

Statements - IT : Aspirin also inhibits produetion of prostacyelin wich opposes platlet aggregation and is a vasodilator.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - I are correct.




(2) Both Statement - I and Statement - II are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Deficiency in uridyl transferase causes galactosemia.

Statements - I : Galactosemic individuals can synthesize UDP galactose from glucose using galactokinase.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Neutrophils play a key role in acute inflammation.

Statements - I : Adhesion of neutrophils to endothelial cells employs integrins.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Methemoglobin is formed from hemoglobin due to abnormalities in spectrin.

Statements - IT : Abnormalities in the amount or structure of spectrin causes hereditary spherocytosis.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct,

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - I is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Thrombocytopaenia is a condition in which abnormally a high number of platelets are found in circulating blood.
Statements - II : In thrombocytopaenia blood coagulation time is decreased.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct,

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : Prostacyclin is a prostaglandin that inhibits platelet aggregation.

Statements - IT : It is antagonistic to thromboxane.

In the light of the above statements. choose the most appropriate answer from the options given below :




(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.
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Given below are two statements :

Statement - I : A temperate phage can exhibit only lytic cycle.

Statements - IT : A virulent phage can choose between lytic and lysogenic cycle.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

AR ACURI

BYF - 1 : U ¢HI fauTol had ag- 9% Ueiid Sdl g

Y - 11 : T 3U fauiel 7u= iR mge-t 9% 1 ¥ i &1 off 9099 o2 9l B
IWRIF HYH & AP 4, Aid (ST U fdmed] § 9 Fal IR &1 994 Difore:

) FYFIHAR I A 9T &
) HYTI IR SH ATA T
(3) B A 3. Afeh PUF 11 3194 §
(4) HUF1 3A €. Afb PUA 1 TT &

1[Option ID=45865]
2[Option ID=45866]
3[Option ID=45867]
4[Option ID=45868]

Sl. No.73
QBID:1815048348

Given below are two statements :
Statement - I : An Hfr bacterium has conjugative plasmid integrated into its chromosomal DNA.

Statements - I : Hfr bacterium are very efficient in delivery of chromosomal genes into Feells.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - I is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

44 gl Py feu Ty &

BYA - 1 : Hfr Siiay] & $g @IiETs §idl § o 349 UG S1.UA.U. & 91 Hufed grar g
DY - 11 : Hf: SIGT] VR SiiF1 &1 F-ohI1316] T MR 63 & U it G&H ¢ |
IWRIFd HYA & AP 1, -id (ST T [ddHed] § 9 Hal IR &1 994 Difoe:

(1) FUFT AR I GHI T &

(2) HYTI AR IS S 5

3)




YT 1 G €. AT HYUT I 3T &
(4) PYTI AT S, AP FUT I T ©

1[Option ID=45869]
2[Option ID=45870]
3[Option ID=45871]
4[Option ID=45872]

SI. No.74
QBID:1815048349

Given below are two statements :

Statement - I : Vancomyecin is a type of glycopeptide antibiotic.

Statements - I : Vancomyecin mhibits protein synthesis of Gram-negative bacteria.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

g FEfcuue:

B -1 : THITBRA TS PR ] WS UPES Uaulldd g

FYA - 11 : TP IHERA JH-3@E! Siarujsi & i JRay0 &1 Sfaied Sl g |
IR P & @D 1, Fid 13U 70 fdwed & I U5l IR &1 904 Sifoie:

(1) HUTI RIS TI &

() HUTI AR SIS

(3) FYFTITA ©, Ad DU I 3T &
(4) FYF1 A E. AP PUA 1 T ©

1[Option ID=45873]
2[Option ID=45874]
3[Option ID=45875]
4[Option ID=45876]

Sl. No.75
QBID:1815048350

Given below are two statements :

Statement - I : In eukaryotes 5' caps contribute to the stability of mRNA by protecting their 5' ends from enzymatic degradation.
Statements - I : 5' caps also enhance the translation of mRNA by eukaryotic protein-synthesizing system.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

EIEAE I ACURI IS

B -1: GHRUCT H 5 HH mRNA B FRRA H 1TeH Bl 8. 396 5 BRI B IGHYU T & 3P |
BUA - 11 : 5' P GHRACT AT HRATU] SHaRIT GRTmRNA & RIFHIGRUI I i Hafg e o

SWRIE Y & 3l H, - fGU Y faeveul § d 981 ITR 31 951 ST

(1) HUTI RIS TT 8

2 PYTIARI A AT

(3) PYFT 1A 5, Ald DU II 3T ©
(4) FYF1 3 ©. Ui DY 11 9 ©

1[Option ID=45881]
2[Option ID=45882]
3[Option ID=45883]
4[Option ID=45884]

Sl. No.76
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Given below are two statements :

Statement - I : An antibody recognizes a specific group of amino acids on the target molecule called an epitope.
Statements - II : Haptens are macromolecules that elicit antibody formation.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.




(2) Both Statement - I and Statement - IT are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

TR P RTTE:

BYT-1: TP ViRl TP UfIET o O aral afgd 3] IR U 3na & e fafy 9e &t g aRaT |
ﬁﬁﬂ?-ll:%gqumﬂ%.@ﬂﬁ?&ﬁﬁiﬁ%ﬁ@%-%l

SWRIgd HYA T Ml H, 71 B 0 fawed! & 9 98 SR &1 994 S

(1) HYF1 IR T &

(2) BYT1 AR SHI FFI &

(3) HYT19A &, A BYT 11 HTH &

(4) DY AT ¢, AP PYT I T §

1[Option ID=45885]
2[Option ID=45886]
3[Option ID=45887]
4[Option ID=45888]

Sl. No.77
QBID:1815048352

Given below are two statements :
Statement - I : IgG. major antibody in serum, can be cleaved into three 50 kDa fragments by the limited proteolyic action of papain to
produce two F_y, and one F_ fragment.

Statements - IT : All these three fragments bind to antigen.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

RS FERTME:

BYA - 1 : 1gG URA T IURUT A Wi, BT a0 50 kDa @o! B faga [l o Tobdl 5. TTed @1 IiHd HielH S9ued ol gRI.
T H g Fab 3R U Fe @8 §d &l

YT - 11 - g g4 I T ufao ¥ e Fed g |

IWRIF HYH & AP 1, Aid (ST fdmed] § 9 Il IR &1 994 Difoe:

(1) PYIARISITT S

2 FYFI AR A7

(3) HUF1 T T, Afbd BT 11 3T &
(9) FYT1 A G, AP PUA I T ©

1[Option ID=45889]
2[Option ID=45890]
3[Option ID=45891]
4[Option ID=45892]

Sl. No.78
QBID:1815048353

Given below are two statements :

Statement - I : DNA gyrase relieves positive supercolling.

Statements - IT : DNA helicase unwinds strands at the origin of replication.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - I is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

AR IR ACURI

DY -1 : SIUAU. SRY ffddrSdl®RUl &l HHEH $edl g

HYA - 11 : 31 UA.U. 2w sRgansti &1 ufagdias & SeHRH W aiad g
IWRIF HYH & AP 1, Aid (ST [dHed] § 9 Fal IR &1 994 Difoe:
(1) HYFI ARSI TT &

(2)




YT AR 13T 3T T
(3) BYT1IH . AP HYT 11 3T &
(4) HYT1 A 8, AT FUT 1 T ©

1[Option ID=45893]
2[Option ID=45894]
3[Option ID=45895]
4[Option ID=45896]

Sl. No.79
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Given below are two statements :

Statement - I : DNA footprint is a method of investigating sequence specific DNA binding protein.
Statements - IT : Yeast two-hybrid system is a method of investigating protein-protein interaction.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

AR ACURI IS

YA - 1 : S1.UA.U. Pl ue yumed 8. 3rmd ARy S1.uA.0. ofsfid WidH @ wild & g
B - 11 ; e GTDHR a1 U WUl § WIS H-UIEH 3t R fooan sifa & oo
SWRIGd $YA & QP 5, A U T [dhedi H I 9ol 3R &1 94 SDIfvlt:

) FYFIHR IS 9 &

(2 FYFI1 ARG AT

(3) HYT1IA ¢, A BYT 11 T ©
(4) HYFI A &, NP YT TA &

1[Option ID=45897]
2[Option ID=45898]
3[Option ID=45899]
4[Option ID=45900]

Sl. No.80
QBID:1815048355

Given below are two statements :

Statement - [ : In prokaryotes DNA polymerase I is responsible for DNA repair.

Statements - IT : In prokaryotes DNA polymerase II erases primers and fills in gaps on lagging strands.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - I is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

RS sy Rume:

BYA - 1 : Vb RAIE H 31T BT Wiagfd & e 31.¢A.4. uieiRy SuRari gidi g |

T - 11 : Wicbale & S1UA.Y. TieTaRE 11 WTSHT & I SRl & SR GHH SR & SR &I Ul g
IWRIGd DY & @D 1, Fid f3u 78 fdwedl & I T8l IR &1 904 Sifoie:

(1) HFYTISR IS TT S

(2) BYT1 AR 3A AT

(3) HYT1 T . Al PYUT 11 3T ©

(@) BYTI1 IS, AT PUT NI TT &

1[Option ID=45901]
2[Option ID=45902]
3[Option ID=45903]
4[Option ID=45904]

Sl. No.81
QBID:1815048356




Given below are two statements :

Statement - I : IPTG is an artificial inducer of lactose operon.

Statements - IT : It is not metabolized by the products of the genes it induces.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct,

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

I RIEACURI I

HYA -1 : IPTG T IR BT F9 IR ¢

BYA - 11 : THPT SUM=T URT DI 53 oF & 31 U Tol ol |

SRITd YT & MAF |, i U T faeed & 3 Tl IR &1 9949 Difore:

(1) FYFI1 AR U TT &

(2) HYT1 IR IS ST &

(3) HYT1IH &, A BYT I T ©
(4) HYT A E. Al FUT 1 T ©

1[Option ID=45905]
2[Option ID=45906]
3[Option ID=45907]
4[Option ID=45908]

Sl. No.82
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Given below are two statements :

Statement - I : Type II hypersensitivity, is antibody and complement independent.

Statements - I : Type II hypersensitivity involves antibody mediated cellular destruction.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - I are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

TR wyE T E:

P -1: 2RU I SffasaeTeiiad. ufavaft 3R e IR ik 78t

HYF - 11 ; 22T 11 SfaHa-Tiaar ufarelt gRT very SifiEsfi & 7y & | gfmfiea el
SWRIT] Y9 & dlF 1, Hid (4T U [dsed] § 4 Tol IR &1 9949 Difole:

(1) HYF1 AR 11 SH T &

) PYTI RIS ST

(3) B[ I B, Afeh PUT 11 3T €
(4) FYFT1 A S, AP FUA 1 T ©

1[Option ID=45909]
2[Option ID=45910]
3[Option ID=45911]
4[Option ID=45912]

Sl. No.83
QBID:1815048358

Given below are two statements :

Statement - I : A karyotype reveals characteristic structural features of a complete set of chromosomes of an individual.
Statements - II : Idiogram is a diagrammatic representation of karyotype of a species.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

RS FERTmE:

T - 1 : PRATETZY FaRid Bl ¢ [0%Y WRaId® & [HH Ted & 9901 0RH 9HE & -
DY - 11 - SISTUUTH TS Sl o U WY Bl RREd aui |

SWRIT Y9 & dlF 1, Hid (ST U fdsed] § O Tol IR &1 9949 Difoe:




(1) HUTI R TI g

() HUTI IR SIS

(3) PYFT 1A . Ald DU II 3T &
(4) FYFT1 A G, AP PUA 1 I ©

1[Option ID=45913]
2[Option ID=45914]
3[Option ID=45915]
4[Option ID=45916]

Sl. No.84
QBID:1815048359

Given below are two statements :

Statement - I : A humanized antibody is one in which heavy chain is from mouse and light chain 1s from human.
Statements - I : A humanized antibody is one in which CDRs are from mouse and the rest is from human.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

BRI A AR

FYA - 1 : ggAIg s iavell a8 & o Yl 4ae 96 9 SR goo! 4@a AHa U B
YA - 11 : §gHTEes UicRef 98 ¢ fod CDRs 98 ¥ 3R 919 98 dHa 4 g
SIS Y & 3l H, - fGU MY faevedl # 9 981 IoR B1 95 ST

(1) PYTIAR NS TT T

(2) PYTI RIS AT

(3) HYT1IA 8. Ahd BUT 11 TH ©

(4) FYTI IS, APT P N T &

1[Option ID=45917]
2[Option ID=45918]
3[Option ID=45919]
4[Option ID=45920]

Sl. No.85
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Given below are two statements :

Statement - I : Passive immunity is achieved through vaccination.

Statements - II : Passive immunity 1s aclieved through first exposure to the disease.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - I are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

EIEAE I ACURI IS

HY - 1 : FAfSera uforen o 3 urd St 8

B - 11 ; (TSP uftRen I & ued wue 3 e gl 2

IWRIGd DY & @D 1, Fid iU 7u fdwed & I T8l IR &1 98- Sifoie:

(1) HUTI RIS TT &

2 HYTIIRIEH AT

(3) FYT 1Y . Ao HYUF 11 T ©
(4) T 3TAC. APT YT TT ©

1[Option ID=45925]
2[Option ID=45926]
3[Option ID=45927]
4[Option ID=45928]

Sl. No.86
QBID:1815048361




Given below are two statements :

Statement - I : In pneumonia most of the alveolar sac is occupied by the fluid with dead WBC and alveoli are inflamed.
Statements - IT : In emphysema abnormal distension of bronchiole or alveolar sac leads to loss in elasticity of these parts.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

T ey

U -1 AT Sffead gite! 1Y 7d 4aY] I 5d 9 R ek & SR iuwlel § o gid ¢ |
BYA - 11 : THISHH § $H-P] U1 BIUS] S8l D1 STHH Hard o7 ol & aa9® DI -8 PR oal ol
SRIGd DY & A |, A U U fdwed! & 1 U8l S &1 991 SIog:

(1) FYFI1 AR TT &

(2) HYT1 IR IS ST &

(3) HYT1IH €, Afch- HYUT 11 IHTH &

(@) BYT1 I 5. AT FYT I TT &

1[Option ID=45929]
2[Option ID=45930]
3[Option ID=45931]
4[Option ID=45932]

Sl. No.87
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Given below are two statements :

Statement - I : In an individual average value of total lung capacity is 5700 ml to 5800 ml.

Statements - II : In an individual average functional residual capacity of lung is 500 ml to 600 ml.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - I are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

H2 S pyr fegmr e

B - 1 : [l Theh 7 Ul P d &ell &1 2119 TR 5700 861, 9 5800 FALfET. 1

BYT - 11 : Fb il T H DUDH Bl DRITHD GIRIY &1 T {1 s00 F1.fe1. F 600 1. B
BRI HYA & 3dld H, A U T [ddedi H 9 Gl 3R &1 94+ SIfult:

(1) HYT1 AR TG T &

(2) HUTT RS ST §

(3) YT 1A . AIp BUT 11 HA §

(@) BYTI I 8. AT FUT I TT &

1[Option ID=45933]
2[Option ID=45934]
3[Option ID=45935]
4[Option ID=45936]

Sl. No.88
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Given below are two statements :

Statement - I : Diuresis 1s the condition in which the exeretion volume of urine decreases.

Statements - IT : Diuresis is the condition in wich the kidney fails to excrete urine.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

2 & Py Ry T &

HY - 1 : TATal G FRufa § forad Safeld 2 &1 smaa- ®u gl ST 81
DY - 11 - ATl U (Ul & o 9o TF 31 ol - § 98 ol w8d |
SWRIT HYF & dlF 1, Hid (ST U fdswed] H§ I Tol IR &1 9949 Difoe:




(1) HUTI R TI g

() HUTI IR SIS

(3) PYFT 1A . Ald DU II 3T &
(4) FYF1 A G, AP PUA 1 T ©

1[Option ID=45937]
2[Option ID=45938]
3[Option ID=45939]
4[Option ID=45940]

Sl. No.89
QBID:1815048364

Given below are two statements :

Statement - I : Adult haemoglobin (HgA) has two identical alpha chains and two gamma chains and has greater affinity for binding to
oxygen than Hg F.

Statements - II : Fetal haemoglobin (Hg F) has two alpha and two beta chains.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

EEERCACURIEE )

HYT -1 : T SIS (HeA) T & THIHM Ueh] $RGa HR Sl TH 49T gl § AR 598 i ¥ e gF &1
GoATiTaeT HeF ¥ 9% €

HYF - 11 : Bled SEralia (HeF) & <l Tewl 3R &1 dier 4@ar gidl &

IR P & @D 1, Fid [3u 70 fdewedi & I U5l IR &1 904 Sifoie:

(1) HUTI RIS TT 8

) HYTI RIS AT

(3) FYFT 1A 5, Ad DU I 3T &
(4) YT A ©. Ui DY 11 9 ©

1[Option ID=45941]
2[Option ID=45942]
3[Option ID=45943]
4[Option ID=45944]

Sl. No.90
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Given below are two statements :

Statement - I : The MHC proteins are recognized by immune receptors which use them to distinguish between "Self” and "non-self cells.
Statements - IT : MHC proteins exists in two forms MHC-I and MHC-IL.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

BRI A R

YA - 1 : MHC WIS &1 ugdT= UiaRT&d ATe1 GR1 BId © Sl 5-1epT SN ¥ 3R IR PITABISH H 3R P & 7Y Bl & |
HYA - 11 : MHC WA & =401 § fae@ 81dt @ MHC-I 3R MHC-II |

JRIEd Y & 3aid 1, - f3U 7 fasedi & 3 98l 3R &1 99 DIfolt:

(1) BYTIAR NS IT &

(2) BYT1 AR 3A AT

(3) PYT 1 II . AP PYT 11 3T &

(4) FYTI IS, APTFY I TT &

1[Option ID=45945]
2[Option ID=45946]
3[Option ID=45947]
4[Option ID=45948]

Sl. No.91




QBID:1815048366

Given below are two statements :

Statement - I : ELISA detects the presence of an antigen or antibody in a sample by antigen-antibody interaction.
Statements - II : Peroxidase linked to anti-antibody is required for enhancing the specificity of antibody.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

fR S ey Ry

BYA - 1 : Tl ( ELISA ) Wicor a1 wioRef & Iufeyd! &1 fbeil vexi o ufoe whirell aRwaR® foval gR1 @d axal 6 |
DY - 11 : WioRalt &t faiydr aem & g wiorell & 9y Safid Wafiadiod @ STavdddl oidl o |

BRI HYA & 3did H, i U T [ddedi H 9 Gol 3R &l 98- SIfvlt:

(1) HYF1 AR 1A T &

) PYTIAR IS 3T

(3) HUTI A g, Ao BYT I HTH §

(@) BYT1 I 5. AT FYT I TT &

1[Option ID=45949]
2[Option ID=45950]
3[Option ID=45951]
4[Option ID=45952]

Sl. No.92
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Given below are two statements :
Statement - I : RBCs have approximate life span of 30 days and after this period they are fragmented.
Statements - IT : Heme of hemoglobin is converted to biliverdin and then to bilitubin. which is released in plasma. Bilirubin is taken up by

the liver and secreted in bile.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT 1s correct.

e A e e B )

FHUF - 1 ; TG TG0 B30 FT g HTa THT 30 Fo7 8 3R 59 U099 & 9E 5991 e 8 Il ol

TYA - 11 : TANGITe & o fafeafod & givafia aiar © SR i faferefam o o wiremn 3 A9 grar o | e fed goa g1
TgU fopar @i § 3R O ¥ wifaad giar g1

SWRIT] Y9 & AP 1, Hid (ST U [deed] § I Tol IR &1 994 Difoe:

(1) HYF1 AR 1A G E

) PRI A

(3) B[ I §. Al PUT 11 39T §
(9) FYT1 A 8. AP FUA 1 T ©

1[Option ID=45953]
2[Option ID=45954]
3[Option ID=45955]
4[Option ID=45956]

Sl. No.93
QBID:1815048368

Match List - I with List - IT

List-1I List-1T
A |[Pelvic girdle it Tubercle
B |Pectoral giradle II Ethmoid bone
C  ||Typical ribs I [lium
D  |The cranium v Scapula

Choose the correct answer from the options given below :
(1) A-IIL B-IIL. C-IV. D-1




(2) A-IIL B-IV. C-1. D-II
(3) A-IV. B-IIL C-II, D-I
(4) A-IIL B-I. C-IV. D-IT

Gt - 19 91y Gl - 11 BT el Difoe:

Tl -1 i
A | EE [ [cgEed
B |Ufca® HEa 1 |[UsHTs 3Ry
c  |wiaffee oot i e
D |wfrm v [Ruer
- feu e fawedt & © W6 ST @1 757 B
(1) A-IL B-III. C-IV. D-1
(2) AL B-IV. C-I. D-II
(3) A-IV. B-II. C-II. D-1
(4) A-IL B-1. C-IV, D-1I
1[Option ID=45957]
2[Option ID=45958]
3[Option ID=45959]
4[Option ID=45960]
Sl. No.94
QBID:1815048369
Match List - I with List - IT
List-1 List-1I
A |Dendrite I The cell body of neuron
B |Meninges IT ||Cytoplasmic extensions of neuron
C |Axon [T || The brain protective coverings
D |Perikaryon IV ||A long and thin process of neuron

(1) A-IL B-IIL. C-IV. D-I
(2) AL B-IV. C-I. D-II
(3) A-IV. B-III. C-II. D-I
(4) A-IL B-I1. C-IV, D-II

Choose the correct answer from the options given below :

il - 19 1Y il - 11 BT HeA Difoie:

(1) A-IIL B-III. C-IV. D-I
(2) A-IIL B-IV. C-I. D-IT
(3) A-IV. B-III. C-II. D-I
(4) A-IIL B-1. C-1V. D-II
1[Option ID=45961]
2[Option ID=45962]

3[Option ID=45963]
4[Option ID=45964]
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Sl. No.95
QBID:1815048370




Match List - I with List - IT

List-I List - IT
A |Autograft I A transplant between genetically identical individuals
B |Xenograft II A transplant between same species
C |Allograft III  ||A transplant between different species
D |Isograft IV ||A transplant of individuals own tissue

Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-I
(2) A-IV. B-IIL C-I, D-II
(3) A-IV. B-IIL C-II, D-I
(4) A-II B-L. C-IV, D-II

Gt - 1% F1Y Yl - 11 B [T Difeie:

gl -1 ol - 11
- | |3 ey T H
B [oiHIuge 0 |99 Sriadl 3 HioRigo
C |udrge [0 |[gud SAifadl 3 wiaRigor
D |t v [P O WU & STl Bl

1[Option ID=45969]
2[Option ID=45970]
3[Option ID=45971]
4[Option ID=45972]

A1 fqu T [l O 9§ 98l SR &1 99 BIfoE:
(1) AL B-IIL C-IV, D-I
(2) A-IV. B-IIL. C-I. D-IT
(3) A-IV, B-IIL C-IL, D-I
(4) A-IL B-L C-IV, D-II

Sl. No.96
QBID:1815048371

Match List - I with List - IT

List-1 List-II
A |Electrocardiography I Imaging that indicates blockages
[ R (51 Y s B E PR e T E{ii&:;r:ii&s between water rich and water
Cc |MRI IIT  ||Reads electrical signals of brain
D |Digital subtraction angiography IV  |Reads electrical signals of beating Heart

Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-I
(2) A-II, B-IV, C-I, D-II
(3) A-IV. B-IIL C-II, D-I
(4) A-II B-L C-IV. D-II
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(1) A-IL B-III. C-IV. D-1
(2) A-IL B-IV, C-I. D-1I
(3) A-IV. B-IIL. C-II. D-I
(4) AL B-I. C-IV, D-II
1[Option ID=45973]
2[Option ID=45974]
3[Option ID=45975]
4[Option ID=45976]
Sl. No.97
QBID:1815048372
Mateh List - I with List - IT
List-1 List-1I
A ||Secretin I Pancreatic amvlase secretion
B |Cholecystokinin (CCK) 11 Pepsin secretion
C  |Enkephalins 111 Pancreatic bicarbonate secretion
D | Gastrin I Op1ate like actions

(1) A-IL B-III. C-IV. D-I
(2) A-IL B-IV, C-I. D-II
(3) A-IV, B-II. C-II. D-I
(4) AL B-I. C-IV. D-II

Choose the correct answer from the options given below :

il - 1S Ty el - 11 BT e B

(1) A-IL B-III. C-IV. D-I
(2) A-IIL B-IV. C-I, D-II
(3) A-IV. B-1II. C-II. D-I
(4) A-IIL B-I. C-IV. D-IT
1[Option ID=45977]
2[Option ID=45978]

3[Option ID=45979]
4[Option ID=45980]
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Match List - I with List - IT

List-1 List-1I
Carbapenems I |Prebiotics
Bifidobacteria 11 |Xenobiotics

Fructo-oligosacchanides  |IIT| Antibiotics

glo|wW| =

Polvchlonnated biphenyls [[V[Probiotics

Choose the correct answer from the options given below :
(1) A-IL B-III. C-IV, D-I
(2) A-II B-IV, C-I, D-II
(3) A-IV. B-IIL. C-II, D-I
(4) AL B-L. C-IV. D-II
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(1) A-IL B-III. C-IV, D-I

(2) A-IIL B-IV, C-I, D-II

(3) A-IV, B-IIL C-II, D-I

(4) A-IIL B-1, C-IV, D-II

1[Option ID=45981]

2[Option ID=45982]

3[Option ID=45983]
4[Option ID=45984]

Sl. No.99
QBID:1815048374

Match List - I with List - IT

List-I List - 11
A [IgA I Protects against parasites and participates in allergic reactions
B |[eE II Unknown function
Cc |leG 1T Major class of antibodyv 1n tears, saliva and mucus
D [IgD v Most prevalent antibody in serum

Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-I
(2) A-II, B-IV, C-I, D-II
(3) A-IV. B-IIL C-II, D-I
(4) A-II B-L C-IV. D-II
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(1) A-IL B-III. C-IV, D-I
(2) A-II B-IV, C-I. D-II
(3) A-IV. B-III C-II, D-I
(4) A-IIL B-I. C-IV. D-II
1[Option ID=45985]
2[Option ID=45986]

3[Option ID=45987]
4[Option ID=45988]

Sl. No.100
QBID:1815048375

Match List - I with List - II

List-1 List-II
A |Olfactory nerve I Muscle of tongue
B [Trigeminal II Nasal area
C  |Abducens Il |[Jaw muscles
D |Hypoglossal IV |Eyeball muscle

Choose the correct answer from the options given below :
(1) A-IL B-III. C-IV, D-I
(2) A-IL B-IV. C-I. D-II
(3) A-IL B-IV. C-III, D-I
(4) A-II B-L C-IV. D-II

il - 1S Ty el - 11 BT e B

gf-1 -1
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(1) A-IIL B-III. C-IV. D-1
(2) A-IIL B-IV. C-I. D-IT
(3) A-IL B-IV. C-III. D-I
(4) A-IIL B-1. C-1V. D-II
1[Option ID=45989]
2[Option ID=45990]

3[Option ID=45991]
4[Option ID=45992]




